5 6

REVISIONS

DESCRIPTION DATE APPROVAL

Producting release 2021/2/1

VAR5 [E] PN B
SPR-00001 (£:4%:1. 6x4ME10x K 15)

Ein

Jn

%

i

TFF-00012-01

Fixed Block

TFF-00002-02

Guide Block

TFF-00012-02

Limited Block

TFF-00002-05

Pressure Head Fixing Seat

TFF-00012-03

Pressure Head

TFF-00059-01

Test Block

TAS-00088

GH-301-AM

CON-00001

CONNECTOR SMA-F

Ol |w|lo|lo| s |w|o |~ |IIm

SCR-00001

SCREW —+%i3k M2. 5X6

—_
(e

SCR-00002

Screw W SRSk M4X20

—_
[u—

NUT-00001

M4 Nut

—
A\l

SCR-00003

Screw +F4k3k M2. 5X8

—_
w

SCR-00004

Screw W 7NA R SL M4X8

,_.
o

SCR-00005

Screw W7NFARFEL M3x12

—
1

SCR-00008

M2. 5X6 4 7N F iR 22

—
>

DOW-00002

DOWEL @®2.0 x 16

—
-3

SCR-00023

Screw 7S IREFESL M3x8

18  [PCB-00045

PCB

=D | = O DWW DD Qr e e i e e e

PART NAME:

Designed:

Ml F

Checked:

PRTA R

DARU TELECOM

DRAWING NO. :

Approval:

TOLERANCES ON

TFF-00059

The first angle projection:

DESCRIPTION:

Sheet 1 of 1

DECIMALS ANGLES

.x  £0.10

TEST FIXTURE

Scale:
1:1

Unit:
mm

+0. 02

.xx  £0.05 +0.5°

4

6



	图纸1
	工程图视图6
	Drawing View11
	Drawing View12
	Drawing View13
	剖面视图 A-A


